Multiply and Divide by Powers of Ten (])

Find each product or quotient.

2+10°= 14 +10° =
42 x107% = 90 x 10° =
78 x 10° = 76 = 103 =
55+ 10° = 16 x 10° =
90 x 10t = 64 x 1072 =
38 +10° = 67 + 1073 =
91 - 10 = 6-+10"1=
65 =+ 101 = 2 % 102 =

26 X 10 = 90 x 103 =
3+10%= 50 + 102 =
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Multiply and Divide by Powers of Ten (J) Answers

Find each product or quotient.

2 +10°=0.002 14 +10°=0.014
42 x 1073 = 0.042 90 x 10° =90,000
78 X 10° =78 76 +10°=0.076
55+ 10°=55 16 X 10° =16

90 x 10* =900 64 X 107% = 0.64
38 +10° =38 67 +~ 1073 = 67,000
91 +10'=9.1 6+10"'=60

65+ 10'=6.5 2 x10%=200

26 X 10% = 2,600 90 x 10% =90,000
3 +10%>=0.03 50 +~10*=0.5
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